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10 CONSOLEGN,C40:COLORS,07:R=10:DIME(1)sM(1):CH(3) s ME(R,4) 3 M(RsR) K (3):D(3)sT(T
)iW$="11111111111":TEMPD7:FORA=0TO3:READCS(A) :NEXT:X=1:Y=1:M(0)=R:Z$="MISSHIT! "

15 DATA"B#! “(Sp#it0{0eANG7 || EMIQL? O, "xalgn oIz #7777/ pATEANEErrrPx", "d
dafonVInoEsE >~ TYREL <> > ", " IXUX 2330000000 || SpaHEE 76|l 11 | 27mE " : H=3860: L=1

17 DATA"3ITIA0L1IT1DSO0A14D4TO419U440", "Ld4dT419dB14dAeCAF~416Da40A", "I5694CADg0e
IMVAD6=240DP404=", "B171DV4f 2EOE2UD19S06=E04T", "D1742405 SED140D4==4441A041"

20 FORD=0T04:READP$:FORC=1T0%:M$="":FORB=0T0O2: P=ASC (MID% (P%,C+B%9, 1)) -48:FORA=1
TO3:@=INT(F/4) : E=F—D%4: M$=M$+CHR$ (E+48) : P=Q: NEXTA; BiM$="1"+M$+" 1" i M$(C, D) =M%

30 NEXTC,D:FORA=0TO4:M$ (0, A) =W$:M$ (R, A) =WEINEXTAIK (1) =14:K(2)=24:K(3)=30:E(0)=R
:F$="LIFE}IeessWEAPDON: ":D=0:D(1)=-1:D(3)=1: G0SUB390: DEF FNA(A)=RND(1) XA:B=5

40 BOXO,0,71,71:CC="0={E|gnlhrt /30<<8x{++4bia AP %" Z=1346: GOSUB400: GOSUEB1350

50 D$="A1ECRCIEGR":E%$=" YOU FOUND THE “BLACK DNION-":BETA:DON—-(A=0)-(INT
(A/2) X2<A) —(A=5) — (A=8) Xx3GATAS0, 140, 60: D=D+A-5— (A=2) : D=D+((D>3) —(D<0) ) ¥4: GOTOLS
60 V=D(D) :W=D(3-D) : X=X+V: Y=Y+W:ON-(M(X,Y) <>1)BOTOA2: X=X-V:Y=Y-W: USR(H) : GOTOS0
&2 ONSGN(—(X>1)—(Y<9)—(F>0))BOTO&LS: IFL<4THENCCOLOR 42 MUSIC"+B1+B+B" : CCOLOR, 0: CU
RSORO, REFPRINT #4729 WETty ...":Y=B:MUSIC"R?":FRINT"®":G0OSUB150:GOTOS0

463 GOSUB400:MUSIC"-BOCDEFGAB" : CCOLOR &:USR(H) : CCOLOR, O:USR(H) :BOX[111,1,70570.F
: CURSORZ2, 4: PRINT"WARP! " :F=3:D=2: G0SUB3?0: PRINT "&" : GOSUB150

45 GOSUB400:U=(S=4) :0ON-(FNA(F) >*F+1+UX2) GOTASO: N=3-INT (SR (FNA(15)) ) s K=F-(L>4)
70 L$=MID%$("SKELETGOBLINDEMON WRAITH"  NX&6+1,6):iM(1)=(3+N*3) ¥ (K+1):E(1)=M(1):POS
ITION32,88:FPATTERNL 7-K1-1&,C$(N) : T=1:CURSORS8, 11: PRINTL $: GOSUB150: MUSIC"G1CGCBC"
80 V$="VERY GOOD!":CURSDORB, 13:B=0:T=1:FPRINT"FIGHT-1 RUN-2":GETA:0ONA+1G0TOBO,?0:
B=—(FNA (&) >K+1+U) : ONBGOTO110: CURSORS, 1Z:FRINT"CAN“T ESCAFE!":MUSIC"+A3":G0OTO100
?0 T=1:C=—(FNA(S)+L-U>K+2-(S>L) X2) : CURSORB, 13: FRINT"YOUR ATTACK "$MIDS(Z$
+CX4+1,4) :MUSICMID$ (D$,C¥5+1,5) tE(1)=E(1)-CX(S+1-U) :ON-(E(1)<0)GOTO110: GOSUB150

100 T=0:C=—(FNA(S) +K>L+1-U+(S>L)) : CURSORB, 15:FRINTL%$; " “S ATTACK — "iMID$(Z%$,C%4
+1,4) :MUSICMID$ (D$,CXx5+1,5) :E(0)=E(0)—-CX(K+1) : ON—(E (0) £0) GOTOS00: GOSUE150

110 CURSOROs 13:PRINTSPACE$(Z) :ON1-TGOTOB0: CURSORB, 13: PRINTVS: G=6G-(F+1) X (NX5+3) X
(L<7) % (1-B) :MUSIC"C1EG+CS":BOX[ 010,88, 300, 104, F: T=0: PRINT"&" : GOSUE150

120 ONB-(N<3)GOTDS0,50:BOXL011,1,70,70,F:FORB=1T0?: FORA=1T09: CURSORA—-1,B-1:FRIN
TMIDS (" E¥4",M(AyB)+1,1) :NEXTA, B: CURSORX—1, Y=1:PRINT"400330000803HIT ANY KEY"

130 BETA$:0N-(A$="")B0OTO130:PRINT"&"1E(Q)=E(O)—-LXSX(E(0)<LX35) :60TD40

140 I1$="COECECECEEGEGEGEGFDFDFDFDFAFAFAFAGBGEGEGEDGDGDGDGFAFAFAFADEDB" : C=M(X,Y)
:ON—(C<2)BOTOSO: MUSIC"B2": F=F—CX2+5: ON—(F<0) —(F>4) X260T0200, 300: GOSUB370: GOTO40

150 BOX[21Z,TX88,M(T)+Z,7+Tx88,F:BOX[41Z, TX88,E(T)+Z, 7+T%88,F: IFT=1THENRETURN

160 W$="NONE KNIFEMACE SABERAXE SPEARSWORD":S$=MID$(W$,S5%5+1,5) :CURSORR,0:FRIN
TF$:S$; Y$; "oeeal EVEL ";iL3Y$; "FLOOR "iF+13Y43;"GOLD "3G3;" ":RETURN

200 BOX[L111,1,70,70,F:FRINT"080=ssa] NOJosaeT H EfldeesasaT O W N": X$=SPACE$(4B)

210 CURSORO,R:FPRINT"[SURGERY1";:MUSIC"R7":PRINT" OK.":G=G-INT((M(0)-E(Q)) /(L+1)
YIE(O)=M(0) tMUSIC"G3IEB+CS5R" : @=L%60:ON—-(G<Q) —(L=7)B0OTO230, 230

220 CURSORRsR:PRINT"LEVEL UP!":L=L+1:G=6-Q:M(Q)=LX10:E(Q)=LX10:MUSIC"G3+D+ER"

230 GOSUB150:CURSOR1.R:PRINT"WEAPONS] SELECT ":FORA=1TD6: CURSOR1, AX2+R:FRINTA
3"-";MID$ (WS, AXS+1,5) ,RIGHT$(" "+STR$(RXA"2),3);"G":NEXT:CURSOR17,R: INPUTA

240 I=5:J=6:0NA+160TO250:G6=6G-R*¥AXA:S=A: IF(G<0)+(A*»6) THENUSR(H) : 5=1:6=J:G0TO230

250 MUSIC"+E3+A+B+#BSR":PRINT"®":G0SUB150:F=0:L1=L:S51=8:G1=6:GOTO40

300 PRINT"®":GRAPHC7:FORA=1TO?:READT(A) iNEXT:DATA.43.5,1.5:73F9:9.5:85.5:2

305 FORB=0TOS:C=0:FORA=1TO9:D=T(A) XB“2/4:E=A%12:LINEL71Z+C,E, Z+D,E+12:LINEL71Z~
CsEsZ-DsE+12:C=D:NEXT:NEXT:PRINT"JCONGRATULATIONS! ": PRINT:MUSIC" +G3R+G+G7+E3+G"

310 MUSIC"+A+G+F+G+E+G+A+G+F+G+E+G+G+A+#A+B7" :PRINTE®3 " ! ":MUSICI$+"DBDBG+CG+CG+
CG+CG+CG+CB+CG+CE+CE+CE+CE+CE+CE+CE+CE+CC+CC+CC+CC+CC+CC+CC+CC+CC+CC+CC+CC+CC"

320 CURSOR&, 14:FRINTQ$: X$5 "SEE YOU AGAIN IN “FIRE-CHESTNUTS”.":PRINT:PRINT:END

3920 FORB=0TD10:FORA=1TO11:M(A-1,B)=VAL(MID$(M$(B,F) A, 1)) :NEXTA,B:RETURN

400 BOXLO011,1,70.70,F:V=(D=1)—-(D=3) :W=(D=2)—(D=0) :C=0:POSITION3I2, 32: PATTERNL 41—
ByMIDS ("< f "> d [l b4 ZZ F BHERILNARTFU 7770 " s DXB+1,8) : Y$=" D loeanssnn"

410 P=X+C¥ViQ=Y+CXW:A=K(C+1) : B=K(C) : I=71-A:J=71-B:LINEAsA:A; I:LINEI,A, I, I

420 M=M(F+W,0-V): IFM=1THENLINEE,B,A,A:LINEB.,J.,A, I:60T0440

430 M=M(P+W+V,Q0-V+W) : IFM=1THENLINEBsAs As A:LINEB, I.A. I

440 M=M(P-W,Q0+V): IFM=1THENLINEJ+By I.A:LINEJ.J, I, I1:G0OTO460

430 M=M(P-W+V,@+V+W) : IFM=1THENLINEJ Ay I+A:LINEJs I, I, I

460 M=M(P,0) :IF(M=2)+(M=3) THENCIRCLE36, (A+B) /2+(I-B) X(3-M) , 18-C"2%3, .15

470 M=M(P+V,Q+W):@%=". . . AND YOUR QUEST IS OVER.":IFM=1THENBOXAsA,I1,1:C=3

480 C=C+1:DN-(C<3)GOTO410:POSITION 29,51:PATTERNL71-16,CC%:RETURN

S00 PRINT:PRINTTAE(9):"YOU DIED!";Y$;"BUT GOD SAVE YOU .":MUSIC"-A7-A&—-A3-A7":L
=L1:MCO) =LXR:EC(O)=L¥R: X=1:Y=1:F=0:5=51:6=61:G0SUB3I?0: FRINT"&" : GRAFHC7 : GOTO40
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